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QUESTION 1

Which of the following is an advantage to using an EAV-based model instead of a model storing data in a single table? 

A. An EAV-based model can be used to store a broader range of data types. 

B. A single EAV model can represent objects with dynamic sets of attributes. 

C. Data for an EAV data model will load from the database much faster. 

D. Use of an EAV architecture automatically de-duplicates data stored in the database. 

Correct Answer: B 

 

 

QUESTION 2

A custom frontend controller will extend which one of the following classes? 

A. Mage_Core_Controller_Front_Action 

B. Mage_Adminhtml_Controller_Action 

C. Mage_Core_Controller_Varien_Front 

D. Mage_Core_Controller_Abstract 

Correct Answer: A 

 

QUESTION 3

What is the total model Mage_Sale_Model_Quote_Addres_TotalNominal used for? 

A. It checks whether the whole quote is nominal or not. 

B. It calculates nominal prices for every item. 

C. It calculates prices only for items that are represented by the nominal product types. 

D. It runs nominal total models in case of need. 

Correct Answer: D 

 

 

QUESTION 4

Which statement correctly describes order state and order status? 
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A. State and status are independent properties of the order. 

B. The status is a child of the state. 

C. State represents the general state of the order, while status works on item level. 

D. An order doesn\\'t have a status, only a state. Status is a property of an invoice, shipment, and credit memo. 

Correct Answer: B 

 

 

QUESTION 5

Which two of the following will return an instance of a block object? (Choose two) 

A. B. C. D. 

E. F. 

Correct Answer: DF 

 

M70-101 VCE Dumps M70-101 Practice Test M70-101 Study Guide

Powered by TCPDF (www.tcpdf.org)

M70-101 VCE Dumps | M70-101 Practice Test | M70-101 Study Guide                                3 / 3

https://www.leads4pass.com/m70-101.html
https://www.leads4pass.com/m70-101.html
https://www.leads4pass.com/m70-101.html
http://www.tcpdf.org
https://www.leads4pass.com/m70-101.html
https://www.leads4pass.com/m70-101.html
https://www.leads4pass.com/m70-101.html

